Xref ..\msbase]

PARTS LIST FOR POST MOUNT FLASHER LUMINAIRE (SN1706)
ITEM | QUANTITY PART DRAWING No.
1 1 ALUMINUM FLASHER LUMINAIRE MS650.3
1A 1 LENS GUARD MS650.4
2 1 YELLOW LENS MS650.5
2A 1 LENS RETENTION RING MS650.5
2B 1 RUBBER GASKET MS650.5
3 1 BARRIER PLATE MS650.5
3A 1 LAMP SOCKET MS650.5
3B 1 69W INCANDESENT LAMP (BY OTHERS) MS650.2
4 1 1/4-20 x 1—1/4" LONG S.S. ROBERTSON PAN HEAD SCREW MS650.2
8-32 x 17 LONG S.S. ROBERTSON PAN HEAD SCREW
S 4 INCLUDING S.S. SPRING LOCK WASHER MS650.2
6 1 RUBBER GASKET MS650.2
7 5 8-32 x 3/8” LONG S.S. ROBERTSON PAN HEAD SCREW MS650.2
5 . 8-32 x 1/4” LONG S.S. ROBERTSON PAN HEAD SCREW C/W S650.2
INTERNAL TOOTH FLAT LOCK WASHER (PAINT HEAD GREEN) :
9 1 1/8" SPLIT PIN MS650.2
3/8" x 2 3/4” LONG S.S. BOLT, NUT, 2 FLAT WASHERS
* S AND NYLON 'WASHER SP235-2.9.5
* 2 3/8" x 3 1/4" LONG S.S. BOLT, NUT, AND 2 WASHERS SP235-2.9.3
* 1 3/8” x 2 3/4" LONG S.S. BOLT, NUT, AND 2 WASHERS SP235-2.9.3
* 8 U.V. RESISTANT TY—RAPS SP235-2.9.3
1/2” T&B 2922NM STRAIN RELIEF CONNECTOR (OR
* 1 APPROVED ALTERNATIVE) SP235-2.9.3
1" T&B 2941NM STRAIN RELIEF CONNECTOR (OR
* 1 APPROVED ALTERNATIVE) SP235-2.9.5
NOTES

1.

“

SEE STANDARD SPECIFICATIONS SECTION 607
— POST MOUNTED FLASHERS FOR ADDITIONAL
INFORMATION.

ALL DIMENSIONS ARE IN MILLIMETRES.

‘S.s)

INDICATES STAINLESS STEEL.

ITEMS INDICATED WITH AN * SHALL BE PACKAGED IN A
PLASTIC BAG INSIDE THE PANEL.

. REFER TO STANDARD SPECIFICATIONS FOR HIGHWAY

CONSTRUCTION FOR SP235 DRAWINGS.

FLASHER LUMINAIRE

PARTS LIST

MS650.1



